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[3] ��� ��� # �� $� � �

[4] � �3��� � ��� #��$ � �

  

�� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 
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[1]� � - 4
� � � � #� 5 �6� �' �

[2]� � �� ��� ��$ � �

[3]� 
 -	 � � #� 5 �6��' �

[4]� 5 � �� * �' �� 5 �6��'�

  
"�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 
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[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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  #�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

��� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �

[1] � '� � � �

[2] �� �� �' � �

[3] �� ��� �$ �� �

[4] � �
/ � ����

  
��� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression  

[2] Regression  

[3] Projection  

[4] Displacement 

$�� ��0 �&� � 	 � � 
� C ��� ?'	 � ��	 �
 � � 
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5 � 
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� C �� �?' 	� 
�� �� �� 	 #� �-�
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-. �� �

[1] 
 -&� �� �A � � �0 �F � �

[2] ' 8 �� �� � A �� � 0�F�

[3] 
	 # '�� �

[4] 
 �� �� $� ����

  
$�� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes  

[2] Basic Instincts 

[3] Schema  

[4] Conservation 
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  %�� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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  &�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview  

[2]  Projection 

[3] Questionnaire  

[4]  Observation 
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  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 
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'�� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 
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�� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 
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"�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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��� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 
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[4] 
 �� � ��?' 	 �

  
#�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 
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��� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 
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$�� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 
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%�� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport  

[2] Woodworth 

[3] McDougall  

[4] Eysenck 
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&�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�

[4] Speaking and Writing�
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��� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical  

[2] Creative 

[3] Theoretical  

[4] Practical 
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  "'�� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 
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  "
�� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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  ""�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 
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  "��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 
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  "#�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 
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  "��� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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  "$�� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 
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  "%�� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 
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  "&�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 
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"��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�
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  �'�� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic [2]  Acquired 

[3] Intrinsic [4]  Social 
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(��)�!��"�2��"�2��"�2��"�2�����
�$���.���

[1] !
���+�
���!���@�!	
���+�!���'�

[2] !%���+��%A@�!%2��+�BC��

[3] !%�(���+�!D�2�@�!%�(���+��%,'
��E�

[4] 5
���+�"	*�%@��
���+��%����

���� �!��� 2%F�� !
.
� *������� �
'�&� 
�;'� 2���
��'%;�� 8*������:� ��?
� ��.�+!�� !�G�� ���
�
�� ,��������4�

[1] !2%
�'
�#��!�G��

[2] ����
�#��!�G��

[3] ���

�#��!�G��

[4] H'�;�
�#��!�G��

�"�� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�

[1] �%��� ��H'
�� �!
�>��J��.&�

[2] �2�!����2���2�%�'��
%"�����6��.�&�

[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

�#�� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��



����� ��� ���

����	
��
��� � �

�$�� !2�!����
(��)�!���!����!����!����!�����
�$��#%������

[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����

�
�� ��!��
�$��2����
!���!�	*�������'�����%���
�.�4�

[1] '%�*���J �

[2] 
'��
(I�

[3] � ���
����

[4] ���J% �

!%�� ��?
������ 2��� 
,����%<2� ��� 
(��)� !�� 8>I�:�
��?
�9�2���!����!���?
���������������4�

[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

!��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

! �� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

!��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

!!�� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

!��� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

�
�� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

���� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

� �� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

�
�� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

���� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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����������������������������������������������� ���!"���������#$�%�����������������&���#�'���&���#�'���&���#�'���&���#�'�����(!�')���*�
���������	
���������	��
�����
��������
�������������
����	������	
�������
������
����

&��� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
&��� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

&'�� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
&'�� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

&��� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
&��� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 



������ ���&���

��	�
��
���� � �

&(�� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50 �

  
&(�� If the amount is 

8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

&��� 1865 ����������������660�	���":-�&���������

0�1�	�1%�1305 ��0��-�&���������01���!%��)�

120 C��D�������������������3�� ��-����>����0-��

&���������01������� ������������������� ���>���/�

&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
&��� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

&&�� '�����-��-�������20%��-���-�0���:����

!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��

'���� ;�����  �%-������� 01�� ���� '�����-�

�+���-���!"������"������-�01�6 

[1] 12 E!��  

[2] 14 E!���

[3] 15 E!��  

[4] 16 E!���

  
&&�� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12  

[2] Rs. 14�

[3] Rs. 15  

[4] Rs. 16 



� ���)��� ������
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&)�� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
&)�� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 

&*�� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S�

  
&*�� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S 

&��� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���

[1] 602 [2] 592�

[3] 572 [4] 582�

  
&��� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�

[3] 572 [4] 582 

)+�� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  )+�� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 



������ ���*���

��	�
��
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)��� �-��������P, Q ���� R G�%�����9�1��5�8��9��

���� ��%���01*����R, Q�����)�)�-��������

�����Q, P�����)�)�-��������'����01�������

	��������P�G�%��91���������%�������������

����������6�

[1] 22 8��9�� [2] 25 8��9� 

[3] 30 8��9�� [4] 35 8��9� 

  
)��� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs [2] 25 hrs 

[3] 30 hrs� [4] 35 hrs 

)'�� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
)'�� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

)��� �45��������-����!��D������A�&��-��	��%����

10����H�����!%������B����-��	��%����14����

H�����!%�01���������	!�-��H������/�!%H!%�

&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����

H�����!%�0���:��-�01��!��D������45��������-�

�� �������-�01�6�

[1] 31 [2] 33 

[3] 37 [4] 39 

  
)��� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31 [2] 33 

[3] 37 [4] 39 

)(�� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���

[1] 360  

[2] 540 

[3] 600  

[4] 640�

  
)(�� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 
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)��� ����H&���-�:��� ���9000�01������!)E>�����

�-�:��� ����@�A��%�5%�	�1%���0��	����

�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����

:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����

01���

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
)��� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

)&�� D, C �����E������&��01��A, E����	�
���

��&���0-��01��C, A������&��01��D, B����

	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��

�&�����&��01�6�

[1]� A�� �

[2]� B�

[3]� C� �

[4]� D�

  
)&�� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A  

[2] B 

[3] C  

[4] D 

))�� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����

�%���0)��X�����0�����LL�0���%�������:-�

��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�

���X��������!"��%���&�
��01�6�

[1]� �!��� �

[2]� ���3��

[3]� &0�� �

[4]� �����

  
))�� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father  

[2] Brother 

[3] Sister  

[4] Mother 
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)*�� �����>!�3�:�����-�%����45-�!+������!��'��

�-�	��%�:��%0-�01������#$�%��������7���-�

	��%�0���'��%0-�01������#����
�)	�/�����

����������:�����6�

[1]� #J - !J  

[2]� #J - !+J 

[3]� �J - !+J  

[4]� �J - !J�

  )*�� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W  

[2]� N - E 

[3]� S - E  

[4]� S - W 

)��� ������� ���F�7�-����	����!��01���

�

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232�

  
)��� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232 

*+�� 9 ?������ ��	�������	�1���n 01������#�����

���� 	��-� �� ��	���� ���� ������� �%� �����

:������������	�1���������0���:������6�

�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
*+�� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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*��� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�

%���%����
������0��%���%�H�������N!�

����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����

���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����

���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�

�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�

 ����,0-,%1�������:-��	����%7��

  
*��� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

*'�� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  *'�� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

*��� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� [2] ����-!��

[3] !��-!�� [4] ������-�

  
*��� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� [2] Sonipat�

[3] Panipat� [4] Bhiwani�



������ ��''���

��	�
��
���� � �

*(�� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  *(�� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

*��� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
*��� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

*&�� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
*&�� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�



� ��'���� ������

��	�
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*)�� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���

��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  *)�� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

**�� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
**�� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�



������ ��'(���

��	�
��
���� � �

*��� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����

������� �����������!%���'�%��-�:��� 

(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�

(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�

(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�

�

(iv) #�0��� ����
���� ��� 	������ ���3��

H������-�����Q��R�T���0-��01*�

 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�

[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  
*��� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�

(ii) He can hold any office of the 

profit in the State.�

(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�

(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�

[3] Only (iii)  

[4] Both (ii) and (iii) �

�+�� 0�%��7�����������������	�1%�%�;��������-�

�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
�+�� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  
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����

���� �!��"�� #"�$�� �
� ������� %
�� �&�
� ��"
� �"
�
�	����
�� %
�� �
� ������������� #"�$�� ��� �"���
�&�$����

[1] PQRQRPP =+ )( �

[2] QRPRPQQR =+ )( �

[3] PQRQQRP =+ )( �

[4] 0)( =+ RPQPP �

  ���� In context of Boolean expression, 
choose the incorrect expression from 
the options given below :�

[1] PQRQRPP =+ )( �

[2] QRPRPQQR =+ )( �

[3] PQRQQRP =+ )( �

[4] 0)( =+ RPQPP �

���� ��
� ��
�
��'()� *+���	�,� ��� ��-�� (�� .����
���
� �"
� /��� ��� ���
� ����%�� 01�� ��-
�!��
� �
� ���	�� /��2� ����� ��
(�� .�����
�����%�� �� /�
 � ���
� �&�� ��� �&����
��
�
��'()�*+���	�,�(����/��
������$����/��
���(��������%��01��03"��
�01��
���
�
��-��45° �
���
4�����/�
 ��&��
����
�
��'()�
*+���	��
�,��
� ��"�
$��5����0������0+����	��
.����� �&	���� ��� �����%�� 0���� /�
���
*.6"
����
�
��'()�*+���	�,���
�0������%��
�,���
�
 

[1] 
2

1
  

[2] 
2

1 �

[3] 
2

2

1
�
�

�
�
�

�

 

[4] 
3

2

1
�
�

�
�
�

� �

  
���� Two polaroids are placed together 

such that their transmission axes are 
perpendicular to each other, so that 
no light is transmitted. A third 
polaroid is inserted between them 
such that its transmission axis is at 
an angle of 45° with respect to each 
of other axes. The fraction of 
incident unpolarized light intensity 
transmitted by the three polaroids 
combination will be (assume each 
polaroid is ideal) : 

[1] 
2

1

 

[2] 
2

1 �

[3] 
2

2

1
�
�

�
�
�

�

 

[4] 
3

2

1
�
�

�
�
�

� ����
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���� ��� �
�)"�
+�%&�� ������� ��
� 0��-0���
.�7"�0�
�� �
� 1�"� /�
� ����� /� � �/�&�
.�7"���
� ����0+��0�"�� 1t �/��0�����!��&�
.�7"�� �
� ���� 2t �/� � �
�)"�
+�%&�� �������
�&�.���	&�0+��0�"��T�/����
�

[1] 21 ttT +=  [2] 21ttT = �

[3] 
21

21

tt

tt
T

+
=  [4] 

21

21

tt

tt
T

+
= �

  
���� A radioactive nucleus can decay by 

two different processes. The half life 
for the first process is  1t �and that 
for the second process is 2t . The 
effective half life� T of the 
radioactive nucleus is :�

[1] 21 ttT +=  [2] 21ttT = �

[3] 
21

21

tt

tt
T

+
=  [4] 

21

21

tt

tt
T

+
= �

���� ��� ������ �&� �8�%� �
� 0����� ��
���
10 cm × 6 cm �
�10 cm × 11 cm ���
�9:��
�%
����"���"����"��3 × 410−  J /� �
�8�%�����;<=����	�(N/m %
�,�/����

[1] 1.0 × 210−
 

[2] 1.5 × 210− �

[3] 3.0 × 210−
 

[4] 6.0 × 210− �

  
���� The work done in increasing the size 

of a soap film from 10 cm × 6 cm to 

10 cm × 11 cm is�3 × 410−  J. The 

surface tension of film (in N/m) is :�

[1] 1.0 × 210−
 

[2] 1.5 × 210− �

[3] 3.0 × 210−
 

[4] 6.0 × 210− �

���� 8�
��� ����(�� 10 cm ��� ��� �����
0������&� �
��2� ��� 0����&� �
��� �$��&�
8�
�������(��10 cm /���
�6 cm �&��!�&�
���������"��/� ���
�%��"����
���
��&���&�
�!�&�/�
�&�(cm %
�) ��

[1] 6 [2] 3�

[3] 16 [4] 20�

  
���� A thin converging lens of focal 

length 10 cm is placed 6 cm away 

from a divergent lens of focal length�
10 cm. The distance between two 

principle planes will be (in cm) :�

[1] 6 [2] 3�

[3] 16 [4] 20�



� ��� ��� ������ �

��	�
��
���� � ���������

���� ��� 0������ ���� �
� ��� %�
�� �&� ���$�

>$��� RTE
2

3
= �/�2� ��� PC ���� %���

/�
�����

[1] 0.1 R [2] 0.5 R�

[3] 1.5 R [4] 2.5 R�

  ���� The kinetic energy of one mole of an 

ideal gas is RTE
2

3
= ,�then value of 

PC �will be :�

[1] 0.1 R [2] 0.5 R�

[3] 1.5 R [4] 2.5 R�

� �� 0�	;����50 kHz �&����?#"�����
��40 cm 
#"��� 	��&� ��� �	���4�� �)@�� *���&,�
5�������&�%
���6�3��/�
�&�/�� �����%&A���&�
�!�&����%��"��&%��&����):�(��/����
�

[1] 9 m [2] 10 m�

[3] 18 m [4] 20 m�

  � �� Ultrasonic waves of frequency 50 kHz 
are produced in water by a radiating 
disc having a diameter 40 cm. The 
width of the main beam at a distance 
of hundred meters is :�

[1] 9 m [2] 10 m�

[3] 18 m [4] 20 m�

�!�� ��� �&�$"%� (Cs) ��/� ��� 1980 Å 

������B"�� ��� ��� �%�&	�A� .����� 0������
/�
��� /� � 0.5% �&� C	��A%� �1���� %���
�
/��2� %�C�� /�
�
� 	��&� .����� �	D��� +�����
/�
�&�*µA %
�,���
*�&�$"%������"��8���= 1.90 eV, E�����
��"�����h = 6.6 × 3410− J-S �	��.�����
���	
��c = 3 × 810  m/s �
�,�
�

[1] 0.8  

[2] 0.08 �

[3] 0.16  

[4] 1.6 �

  �!�� One milliwatt of light of wavelength 

1980 Å is incident on a Caesium 

(Cs) surface. Assuming a quantum 

efficiency of 0.5%, the photoelectric 

current librated will be (in µA) :�

(take work function of  

Caesium�= 1.90 eV, Plank constant�
h = 6.6 × 3410− J-S and velocity of 

light c = 3 × 810  m/s)�

[1] 0.8  

[2] 0.08 �

[3] 0.16  

[4] 1.6 �



������ ���!���

��	�
��
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���� 04��0�
���
�%�+"�%�C���-���
��������%
�2��&�
�
��
��-�����"
��"
�/�����
�
(a) 04��0�
�����%�+"�%�C���-��.���(��(��

0�"���%
��04��0�
���&����"��0����04���
�
�0��.@-����A����������������/� �
�
�

(b) ����
��%
��04��0�
�����%�+"�%�C���-���9:�
$���� /�� 0���� �����%� /�
�
� ��� .���
(��(��0�"���%
��AC���
���&����"��B�A�
$��&�/� �
 

�/&�/&�/&�/&���	��������"���&�$����
[1] �-���(a)�0����(b)���
��
���6"�/���
�
[2] �-���(a)�0����(b)���
��
��0�6"�/���
�
[3] �-��� (a)� �6"� �
���� �-��� (b)�

0�6"�/��
[4] �-���(b)��6"��
����(a)�0�6"�/��

  ���� In context of mean free path of 
molecules, two statements are given 
below :�
(a) The mean free path of a 

molecule depends upon the 
number of molecules per unit 
volume and the cross section of 
the molecule.�

(b) The mean free path of molecules 
in gas increases and the number 
of collisions per unit volume 
decreases with the lowering of 
pressure. 

Choose the correct option : 

[1] Statement�(a) and�(b)�both are 
true�

[2] Statement (a)�and�(b)�both are 
false�

[3] Statement (a) is true but (b) is 
false�

[4] Statement�(b)�is true but�(a) is 
false�

�""�� ����(��L �&����%�
A&��@�&�����%�
��&�
F���
��A���/&�/� �"���Y�0����ρ�7%����
"��� .6"�@-���� ��4�����0���� (��
� ���-��� �
�
B��6	�/��2���
�(��
�@	"���
�������
����4�2�
(��&�����(��%
��	;�G�/����

[1] 
Y

gL2ρ
 [2] 

Y

gL

2

2ρ
�

[3] 
Y

gLρ

 
[4] 

Y

gL

2
ρ �

  
�""�� A thick rope of length L is hanging 

from the celling of a room. If�Y and�ρ 

are respectively the Young's modulus 

and density of its material, its increase 

in length due to its own weight is :�

[1] 
Y

gL2ρ
 [2] 

Y

gL

2

2ρ
�

[3] 
Y

gLρ

 
[4] 

Y

gL

2
ρ �



� ������� ������ �

��	�
��
���� � ���������

�"��� )H"!A&� ��������� ���������%&����
� ���&�
�����
����
��!�*/�'��,��&�0�	;����%
��7 : 5 �
�
0������%
�����	�������!����*���,�/�
���/�2�
$��"/���
��������&�/� �"���+	������
	
��330 m/s /�2���
������&�����/�
�&���
�

[1] 27.5 m/s�

[2] 55 m/s�

[3] 77 m/s�

[4] 110 m/s�

  �"��� A policeman on duty detects a 

change in the frequency of the horn 

of a moving car in the ratio of 7 : 5 

as it crosses him. If the velocity of 

sound is 330 m/s, the speed of the 

car will be : �

[1] 27.5 m/s�

[2] 55 m/s�

[3] 77 m/s�

[4] 110 m/s�

�"��� "���P��%I������
�2�.6"
���&��&	����I�/���
��-�!��
��
���-��#"����4�����&�/�� �"���
#"����4�� (i) �������G�0���� (ii)�����
0���G� /�2� ��
� 0�+���%� �&	���0�
�� ���
0������/�
�����

[1] 1/P [2] 1/ 2
P  

[3] P [4] 2
P �

  �"��� If P indentical waves each of 
intensity�I interfere with each other. 
The ratio of maximum intensities, if 
the interference is (i) coherent and 
(ii) incoherent will be :�

[1] 1/P [2] 1/ 2
P  

[3] P [4] 2
P �

�"��� ��� 0�0	%����� ��
��J� �
� ���� ��4����
��4����� (Q)��-��� �	?��3������ (τ) 7%����
/�
��
���

[1] ��!3"��	����!3"�

[2] ��!3"��	��0�3��

[3] 0�3���	����!3"�

[4] 0�3���	��0�3��

  �"��� For an undamped oscillator quality 
factor (Q) and relaxation time (τ) 
must be respectively :�

[1] zero�and�zero�

[2] zero�and�infinite�

[3] infinite�and�zero�

[4] infinite�and�infinite����



������ ���"���

��	�
��
���� � �

�"��� ���A�"���
�03����������	�"�%4)���
�
����������������/� �"���300 K �
�����
��� A�"�� 0����� 8A� $��2� ��
� �"��
���%���/�
�����

[1] 300 7/2)4(   

[2] 300 7/2)4( −  

[3] 300 2/7)2(  

[4] 300 2/7)4( − �

  

�"��� The pressure inside a tyre is four 

times that of atmosphere. If the tyre 

bursts suddenly at temperature�
300 K, the new temperature will be :�

[1] 300 7/2)4(  

[2] 300 7/2)4( −  

[3] 300 2/7)2(  

[4] 300 2/7)4( − �

�"��� �
�A��� �
� �
J-�
��� �&� �!�&� α /� � ���
��%�3"��
J��
����2��
J-�
����&�0�+���%�
8�
����!�&�/�
����&�/����
�

[1] < α [2] > α 

[3] = α [4] = 2α�

  �"��� The distance of the eye-lens from the 

retina is α. For a normal eye, the 

maximum focal length of eye-lens 

can be :�

[1] < α [2] > α 

[3] = α [4] = 2α�

�"��� ���1 MHz�K"�	7&"�	�/��100�%�(7�
�
�
�4) 0�	�������&�����%�%��	��������
5���� 0�"�%� %�')����� /� � ����� %
�� �
��
����-�&�0�	;����%�')H"!�
A
)����
�� *��L��,�
%
�����@-����/&��/�
�&�M�
�

[1] 990 kHz  

[2] 970 kHz�

[3] 1020 kHz 

[4] 1030 kHz�

  �"��� A� 1 MHz sinusoidal carrier is 
amplitude modulated by a 
symmetrical square wave of period �
100 micro second. Which of the 
following frequency will not be 
present in the modulated signal ?�

[1] 990 kHz  

[2] 970 kHz�

[3] 1020 kHz 

[4] 1030 kHz�



� ������� ������ �

��	�
��
���� � ���������

�" �� 	4��7%&"��
���0�
���&��&	���0�
���
��������%
��
�&�
���
��-�����"
��"
�/�����

(a) 	4��7%&"� �
���� 0�+���%� �&	���� �&�
/�
�&�/���$��
���"
�L�0����J��
�%���
%
�����	�����%���/�
�
�/�� �

(b) "��� ��� �
� 0�+��� 	4��7%&"� �
���0�
��
�
�����L�0����J��
�%���
��%
�����	����
�%���/����
�	4��7%&"��
�������
��&	��
/�
�&� /�� �$��
� ��"
� ��7%4�� J� �
�
�N��%�%����
�/�
���/� �
�

�/&�/&�/&�/&���	�������
��� 

[1] �-���(a)�0����(b)���
��
���/&�/���
�

[2] �
	���-���(a) �/&�/��

[3] �
	���-���(b) �/&�/��

[4] ��
��
���-���(a) 0����(b) �/&��/&��/����

  
�" �� Two statements are given below, in 

context to intensities of spectral lines :�

(a) The spectral line is maximum 
intense for which the changes in 
the value of L and� J are the 
same.�

(b) If the changes in the value of L 
and�J are the same for more than 
one spectral line than that 
spectral line is most intense for 
which the transition takes place 
from the highest value of J. 

Choose the correct option : 

[1] Statement (a) and� (b) both are 
correct �

[2] Only statement (a) is correct�

[3] Only statement (b) is correct�

[4] Both the statements (a) and (b) 
are incorrect�

�"!�� /�()O�
$�� ��%�4��� �&� 0�D� 0	@-��� %
��
(�
CAO��� �&� ������� �
� 0�+���%� �����#"�
�!�&� ������ /�
�&� /�� *$/�P� 0a = ��
�� �&�
�/�&��1����&��JK"��/�,���
 

[1] 
2
0a

r = �

[2] 
2

3 0a
r = �

[3] 0ar = �

[4] 02ar = ��

  
�"!�� The maximum probable distance of 

electron in the ground state of 
Hydrogen atom from the nucleus is 
equal to (Here 0a = Bohr's first orbit 
radius) : 

[1] 
2
0a

r = �

[2] 
2

3 0a
r = �

[3] 0ar = �

[4] 02ar = �



������ �������

��	�
��
���� � �

�"��� ���%��Q���;<=���
�9.0 cm������
��
���P��
(µ = 1.5) �
� B��� 5���� ���"��$���� /� �
>��� �
� �
���
� ��� F�
� /��� 01��� ����
%�J���
��	@-������/��������(���
��
�M�
�

[1] 5.0 cm  

[2] 4.0 cm�

[3] 3.0 cm 

[4] 1.5 cm�

  �"��� A printed page is kept pressed by a 
glass cube (µ = 1.5) of edge 9.0 cm. 
By what amount will the printed 
letters appear to be shifted, when 
viewed from the top ?�

[1] 5.0 cm 

[2] 4.0 cm�

[3] 3.0 cm 

[4] 1.5 cm�

��"�� ��������%
�����
��
�>����
��/� ��
���	��
���
� �
� B��6	� 7%���� 0.8 gm/cc 0����
13.6 gm/cc /� �(�������%
������%���&�
��
���������/���$����0�+���0�"������
�%
��
0�����!����0�+���������
��%
��)!���/�0��/� �
��
�
��
����-������B��6	�(gm/cc %
�) /����
�
�

[1] 7.2 [2] 12.8 

[3] 6.4 [4] 12.4 

  
��"�� A vessel contains oil over mercury. 

The density of oil and mercury are 

0.8 gm/cc and 13.6 gm/cc 

respectively. A homogeneous sphere 

floats in this vessel with half its 

volume immersed in mercury and 

the other half in oil. The density of 

the material of sphere (in gm/cc) is :�

[1] 7.2 [2] 12.8 

[3] 6.4 [4] 12.4�

����� "��� ��� 0	%����� 0�	�&�� ��
��� ���
�	?��3�� ���� 50 sec /�2� ��
� 	/� �%"�

�$�%
�� >$��� .�������� %��� �
�
4

1

e
���4���

����%�/�
�$�"
�&2�/�
�����

[1] 50 sec 

[2] 100 sec�

[3] 150 sec�

[4] 200 sec�

  ����� If the relaxation time of a damped 
harmonic oscillator is 50 sec. The 

time in which the energy falls to 
4

1

e
�

times of the initial value will be :�

[1] 50 sec 

[2] 100 sec�

[3] 150 sec�

[4] 200 sec�



� ������� ������ �

��	�
��
���� � ���������

����� B��6	� ρ 0���� �;<=� ���	� T �
� ���� ���
������B"�� λ��&� �;<=&"� ����� ��� ���� 	
��

π

λ
+

λρ

π
=ρ 2

2 gT
v 5���� ��"�� $���� /� �

�%!/�	
��/�
�����

[1] 2 ρv  [2] ρv
2
3 �

[3] ρv  [4] ρv
2
1 �

  
����� The phase velocity of surface waves 

of wavelength� λ on a liquid of 
density ρ and surface tension T is 

given by 
π

λ
+

λρ

π
=ρ 2

2 gT
v . The 

group velocity will be :�

[1] 2 ρv  [2] ρv
2
3 �

[3] ρv  [4] ρv
2
1 �

����� "��� SJ = 30 µA/ 2cm , J = 2A/ 2cm  

0���  06.46=
kT

e
 .���	�
�A�/�2�p-n ���+� 

)�"�
)��
�����."�C��0���	�
�A������%���
������/�
�����
( 2log10  = 0.3010, 3log10  = 0.4771, 

5log10  = 0.6989 �
�) 

[1] 0.25 V [2] 0.05 V�
[3] 0.50  V [4] 0.025 V�

  
����� If SJ = 30 µA/ 2cm , J = 2A/ 2cm  

and 06.46=
kT

e
 per volt, the value 

of applied forward voltage for a p-n 
junction diode will be nearly :�
(Take 2log10  = 0.3010, 3log10  = 

0.4771, 5log10  = 0.6989) 

[1] 0.25 V [2] 0.05 V�
[3] 0.50  V [4] 0.025 V�

����� %�C�	
�����3+���
� ���� �����������%
���
�
����-����/&�/&�/&�/&��/��M�
*U = 0������� >$��2� H = �3-����&2���
A = /
�%/�
�AH$�%�C��>$���0����G = ��R��
�&�%�C��>$��,�

[1] 
TV

G
p �

�

�
�
�

�

∂

∂
−= 0����

S
p

G
V ��

�

�
��
�

�

∂

∂
= �

[2] 
TS

A
p �

�

�
�
�

�

∂

∂
−= 0����

V
p

A
S ��

�

�
��
�

�

∂

∂
−= �

[3] 
S

p

H
V ��

�

�
��
�

�

∂

∂
= 0����

pS

H
T �

�

�
�
�

�

∂

∂
= �

[4] 
SV

U
T �

�

�
�
�

�

∂

∂
= 0����

VS

U
p �

�

�
�
�

�

∂

∂
= �

  ����� Which one of the following Maxwell 
relation is correct ?�
(U = Internal energy, H = Enthalpy, 
A = Helmholtz free energy and  
G = Gibbs free energy)�

[1] 
TV

G
p �

�

�
�
�

�

∂

∂
−= and�

S
p

G
V ��

�

�
��
�

�

∂

∂
= �

[2] 
TS

A
p �

�

�
�
�

�

∂

∂
−=  and�

V
p

A
S ��

�

�
��
�

�

∂

∂
−= �

[3] 
S

p

H
V ��

�

�
��
�

�

∂

∂
=  and�

pS

H
T �

�

�
�
�

�

∂

∂
= �

[4] 
SV

U
T �

�

�
�
�

�

∂

∂
=  and�

VS

U
p �

�

�
�
�

�

∂

∂
= �



������ �������

��	�
��
���� � �

����� ��� 8�
A�'�� �&� ������B"�� (�
CAO�'��
�� �&���
)&-���'L�&�������B"���
��%���/� ������������
%
���
�����-������3+���/&�/&�/&�/&��/��M�
�

*"/�P� eE �0���� phE �(�
CAO�'��0����8�
A�'��
�&� ���$� >$��� 0���� eP �0���� phP �
(�
CAO�'��0����8�
A�'���
���	
��/��,�

c =� .����� �&� ���� �	�� v =� (�
CAO�'����
�&���� �

[1] 
v

c

E

E

ph

e 2
= �

[2] 
c

v

E

E

ph

e

2
= �

[3] 
v

c

P

P

ph

e 2
= �

[4] 
v

c

P

P

ph

e = �

  
����� A photon has some wavelength as 

the de-Broglie wavelength of 

electrons. Which of the following 

relation is correct ?�

(Here eE �and� phE �are kinetic �
energy�of�electron and photon and 

eP �&� phP �are momentum of 

electron and photon)�

c =�speed of light and�v = speed of 

electron.�

[1] 
v

c

E

E

ph

e 2
= �

[2] 
c

v

E

E

ph

e

2
= �

[3] 
v

c

P

P

ph

e 2
= �

[4] 
v

c

P

P

ph

e = �

����� ����������� %
�� �
� �/&�/&�/&�/&� �	���� ��� �"��
��
����

[1] ��� 04��� �
� ����� >$��� @��� ����
/�
�
�/�� �

[2] ��� �5��%�4���� 04��� �
� B�!4�&�� >$���
@�������/�
�
�/�� �

[3] ���04����
������>$���@����	�	C��
/�
�
� /��� �
���� �%��� �!�&� ��� �/&����
/�
�
�/�� �

[4] ��� �5��%�4���� 04��� �
� B�!4�&�� >$���
@����	�	C��/�
�
�/����
�����%����!�&�
����/&��/�
�
�/�� �

  
����� Choose the correct option among the 

following : 
[1] The vibrational energy levels of 

a molecule are continuous. 
[2] The rotational energy levels of a 

diatomic molecule are 
continuous. 

[3] The vibrational energy levels of 
a molecule are discrete but not 
equispaced. 

[4] The rotational energy levels of a 
diatomic molecule are discrete 
but not equispaced. �



� ������� ������ �

��	�
��
���� � ���������

�� �� ��� npn AO���$@A�� �
� ���� ���"��<=�
0�+�����	3"���%
��+�������R+��α, 0.98 /� �
"/�12 µA �&��67%����;E��+������
���/� �
2 mA �&� ��� �6�$��� +����� �
� ����
0�+���� 0���� �����/�� +����0�
�� �
� %����
7%����/�����
�

[1] 1.948 mA, 28 µA�

[2] 1.972 mA, 28 µA�

[3] 1.98 mA, 56 µA�

[4] 1.96 mA, 56 µA�

  
�� �� The current gain α of a npn 

transistor in common base 

configuration is 0.98. It gives a 

reverse saturation current of�12 µA. 

For an emitter current of 2 mA, the 

value of base and collector currents 

are respectively :�

[1] 1.948 mA, 28 µA�

[2] 1.972 mA, 28 µA�

[3] 1.98 mA, 56 µA�

[4] 1.96 mA, 56 µA�

��!�� 7������P��*L���,�(µ = 1.55) ����.K%�
��
4��6° /� ��S��A���P��*L���,�(µ = 1.66) 

��� �.K%� ��
4�� ������ /�
��� ���/�2� �����
��
��
�� �.K%� ��� ��-�� �%1�� @��CAO%���&��
(direct vision spectroscope)�%
����"�
��
��"
�$����
��M�

[1] +5°  

[2] −5°�

[3] +7.2° 

[4] −7.2°�

  
��!�� The prism angle of crown glass���

(µ = 1.55) is 6°. What should be the 

prism angle of flint glass (µ = 1.66), 

so that the two prism together may be 

used in a direct vision spectroscope ? 

�

[1] +5° 

[2] −5°�

[3] +7.2° 

[4] −7.2°�



������ �������

��	�
��
���� � �

����� ��� �)��� �&� ���C�� 1� ����
	�A� /�� 0����
"/� GHz 0�	;���� ��� �������� /� � "/��
500 m >P��(���
��/�):��&���
A&�����@-���
/� �0�+���%��!�&� �$�����"/��;-	&��&�
��/� ��� �@-��� 	@��� ��
� ���
$� *���!����
��,������/�2�/����
�

*�;-	&��&��JK"��6.4 × 610 m �
�,�

[1] 50 km  

[2] 64 km�

[3] 40 km 

[4] 80 km�

  ����� A radar has a power of 1�kilowatt 
and is operating at a frequency of 
GHz. It is located on mountain top of 
height� 500 m. The maximum 
distance upto which it can detect the 
object located on the surface of the 
earth is :�

(take the radius of earth 6.4 × 610 m)�

[1] 50 km 

[2] 64 km�

[3] 40 km 

[4] 80 km�

��"�� 100°C ��� ����� ��
� 10°C ��� 20 gm 

���&� %
�� �
� ��$����$���� /� �$�����&����
����80°C /�
� $���� /�2� ��
� �	D%��� ���&�
���Q#"%���/�
�����

[ ���&��&���	���<A�><%��= 1 cal 1−g ° 1−
C  

0����������&���E��><%��= 540 cal 1−g  

�
� ] 

[1] 22.5 gm 

[2] 23.5 gm�

[3] 24.5 gm  

[4] 21.5 gm�

  
��"�� Steam at 100°C is passed into 20 gm 

of water at 10°C. When water 

acquires a temperature of 80°C, the 

mass of water present will be :�

[�take specific heat of water = 1 cal 
1−g  ° 1−C  and latent heat of steam  

= 540 cal 1−g ] 

[1] 22.5 gm 

[2] 23.5 gm�

[3] 24.5 gm  

[4] 21.5 gm�



� ��� ��� ������ �

��	�
��
���� � ���������

����� $��200 V ���0�	
�����200 µF �
����
��+����J���
�2 Ω 0��� 8 Ω �
�.����
+������
5����0��-0���0��	
�������"��$����/�2�
����6�3��><%��7%����/�
�&�*$!��%
�,���
�

[1] 4, 4 [2] 4, 8 

[3] 16, 4 [4] 4, 16�

  
����� When a capacitor of value 200 µF 

charged to 200 V is discharged 

separately through resistance wire of 

2 Ω and 8 Ω, then heat produced will 

be respectively (in joule) :                  

[1] 4, 4 [2] 4, 8 

[3] 16, 4 [4] 4, 16�

����� ��� �5��%�4���� 04��� %
�� ��
� ��%�4��0�
�� �
�
�&������
� ���� �@-���$�>$���8���(��
.����/����

612
)(

x

b

x

a
xU −= �

04����
������	"�
$��>$���/�
�&���
�

[1] 
6/12

�
�

�
�
�

�

b

a
 [2] 

6/1

2
�
�

�
�
�

�

a

b �

[3] ab 2/2  [4] ab 4/2 �

  
����� The potential energy function for the 

force between two atoms in a 

diatomic molecule is as follows :�

612
)(

x

b

x

a
xU −= �

The dissociation energy for the 

molecule will be :�

[1] 
6/12

�
�

�
�
�

�

b

a
 [2] 

6/1

2
�
�

�
�
�

�

a

b �

[3] ab 2/2  [4] ab 4/2 �

����� ��� �����&"� ��(�� �&� ���):�(�� 0���� %�
A�(�2�
���&�����(���&�������%
�� ��4"�/� � "/�
��� 0�	������ T� �
� ��-�� 1����$� ��� %
��
��
��� ���&� /� � (�
� P� ������ �����
�� %
��
0���� ����(�� �
� ���	�� ��
):�
� ��2� .6"
��
������
���
������0�	������/����
�
�

[1] TP2  [2] PT�

[3] TP 2
1

 [4] T/P�

  ����� The breadth and thickness of a 
magnetic needle are negligible 
compared to its length. It oscillates 
in a horizontal plane with a time 
period T. The period of oscillation of 
each part on breaking it into P equal 
parts and perpendicular to the length 
is :�

[1] TP2  [2] PT�

[3] TP 2
1

 [4] T/P�



������ ���!���

��	�
��
���� � �

����� ���R� �JK"���
�0�	
�������
�&"���
����
�
B�!4���� �
� ���4�� �����&"� 0�B�!4��� ��� %����
/����

*"/�P�ω���
�&"���
������B�!4����	
���	��σ 
�;<=&"�0�	
���B��6	�/�,�
�

[1] ωσ
π

 
3

4
R �

[2] ωσπ 4

3
2

R �

[3] ωσπ 4

3
4

R �

[4] ωσπ 4
R �

  
����� The value of magnetic moment due 

to the rotation of a charged spherical 
shell of radius R is :�

(Here ω is the rotational velocity of 
spherical shell and σ is the surface 
charge density)�

[1] ωσ
π

 
3

4
R �

[2] ωσπ 4

3
2

R �

[3] ωσπ 4

3
4

R �

[4] ωσπ 4
R �

����� "���#"�67%��
3Q&"�����
�0+�&�������&��
	@��� ��� .1�
�� �-�� ��	�"����� /�2� ��
�
�6�
3Q���(ε)�0��������>$���(E) /�
�&���
�

[1] ε = 0, E = 0�

[2] ε = 1, E < 0�

[3] ε = 1, E = 0�

[4] ε < 1, E = 0�

  ����� If trajectory of a moving body under 
inverse central force is parabolic, 
then eccentricity (ε)�and total energy�
(E) will be :�

[1] ε = 0, E = 0�

[2] ε = 1, E < 0�

[3] ε = 1, E = 0�

[4] ε < 1, E = 0�

����� ��� ��� ��4)�&� +����%��&� �&� +�����
������/���5 div/mA /��0����(��&�."�C��
	�
�A��� ������/��� *��
4�&"� �	1�
�4�� .���
(��(��	�
�A��,�20 div/V /� �+����%��&����
.����
+��/�
�����
�

[1] 500 Ω [2] 250 Ω�

[3] 40 Ω [4] 25 Ω�

  
����� Current sensitivity of a moving coil 

galvanometer is 5 div/mA and its 
voltage sensitivity (angular deflection 
per unit voltage) applied is 20 div/V. 
The resistance of the galvanometer 
will be :�

[1] 500 Ω [2] 250 Ω�

[3] 40 Ω [4] 25 Ω�



� ������� ������ �

��	�
��
���� � ���������

�� �� �����+����J��&�+����������
�%!��%������
7/6 ��4��� /�
� $��&� /� � "��� E�
A�
�� �
� �&��

%�
A�(� dt
3
2

=  �&� ���	�D��� ��&A� .	
���

���(��$��&�/� �$/�P�d E�
A�
���
�%+"��!�&�
/� ����	�D�����&A�������	�D������/����
�
�

[1] 14/11 [2] 11/7 

[3] 7/6 [4] 11/6�

  
�� �� The capacitance of a capacitor 

becomes 7/6 times of its original 
value, if a dielectric sheet of 

thickness dt
3
2

=  is introduced in 

between the plates. Where d is the 
separation between the plates. The 
dielectric constant of dielectric sheet 
is : 

[1] 14/11 [2] 11/7 

[3] 7/6 [4] 11/6�

��!�� �����$&����
���
����
�/	��%
��8
�����/��$��
��&� ��F�&� 	��&� �
��� 0��
� �N��%� ��3���
���/�
�&�/�2���
�	/�����
���8
�����/� �"���
	/�.6"
���
�4)�%
��N �
��
��8
�����/�2���
�
�
��
������&�>P��(�����$��&�/���M�

[1] 2g/N [2] N/2g 

[3] g/2N
2
 [4] N/2g2�

  ��!�� A Juggler throws ball into air. He 

throws one ball whenever the 

previous one ball is at its highest 

point. How high do the ball rise if he 

throw N balls each second ? 

[1] 2g/N [2] N/2g 

[3] g/2N
2
 [4] N/2g2�

����� ��������&"� ���-��� �&� F):� ��� ��A� 1�
J�
0.25 cm2 /� �(�
�4000 A/m �&	����	��
�
�����&"� 1�
J� %
�� ����� $���� /� � ���-��� �
�
��$��
� 	��
� �����&"� S�C�� ��� %�����
25 × 610−  Wb /�2�������-����&������&"�
.	;�������%�����&��/����
�
�

[1] 199 [2] 198�

[3] 197 [4] 200�

  ����� The cross section area of a rod of 

magnetic material is 0.25 cm2. It is 

placed in a magnetic field of 

intensity 4000 A/m. The value of the 

magnetic flux passing through the 

material is 25 × 610−  Wb, then the 

value of the magnetic susceptibility 

is close to :�

[1] 199 [2] 198�

[3] 197 [4] 200�



������ ���"���

��	�
��
���� � �

��"�� ��
� 0�	
���
�� +Q 0����−Q� ��
� x-01�� ���
7%����x = + a 0����x = − a ���������"��
/� � ��� 0�	
��� +q� ��
� y-01�� ��� %!��
��3����
�y��!�&����������"��/� �0�	
���q�
������/����

[1] )ˆ2(
)(4

1
2/322

0
yy

ya

Qq

+πε
  

[2] )ˆ2(
)(4

1
2/322

0
ya

ya

Qq
−

+πε
 

[3] )ˆ2(
)(4

1
22

0
xy

ya

Qq

+πε
  

[4] )ˆ2(
)(4

1
2/322

0
xa

ya

Qq
−

+πε
�

  
��"�� Two charges +Q and −Q�are placed 

on the�x-axis at x = + a and x = − a 
respectively. A charge +q is placed 
on the y-axis at a distance y from the 
origin. The force on charge�q is�� 

[1] )ˆ2(
)(4

1
2/322

0
yy

ya

Qq

+πε
  

[2] )ˆ2(
)(4

1
2/322

0
ya

ya

Qq
−

+πε
 

[3] )ˆ2(
)(4

1
22

0
xy

ya

Qq

+πε
  

[4] )ˆ2(
)(4

1
2/322

0
xa

ya

Qq
−

+πε
�

����� "��� 0ε  ��	���� �&� �	D����&���� 0��� E 

�	D���1�
J�/�2��� 2
0Eε  �&��	%��/����

�

[1] ��/����(��

[2] �����

[3] >$���

[4] ����
C��%
���
���
(���/&��

  
����� If 0ε  is the permittivity of free space 

and E is electric field, then 2
0Eε  has 

the dimension of : 

[1] Force/length 

[2] Pressure 

[3] Energy  

[4] None of the above�

����� �%"��
����8����
�I��%
�����+�������
�
0 < t < T �
����� 2ti = ��
�I��%
��	�4����
��"�� $�� ����� /� � (�� +����� ��� r.m.s. 
%���/����

[1] 3/T  [2] 5/2T �

[3] 7/3
T  [4] 2/T �

  ����� A current as a function of time can 
be described as 2ti = �for 0 < t < T. 
The r.m.s. value of this current is : 
�

[1] 3/T  [2] 5/2T �

[3] 7/3
T  [4] 2/T �



� ������� ������ �

��	�
��
���� � ���������

����� �%��� Q#"%��� m� �
� ��
� �4�� 0��
�
03"�
3"� ��T6	��<��4�� 0��<��4�� �&� �7"�� �
�
0+�&���JK"��R��
����	;����
�����
��0�
��
B�!%�
�/�� �.6"
���4���&�����/����
�

[1] 
R

Gm2
� [2] 

R

Gm �

[3] 
R

Gm

2
� [4] 

R

Gm

4
�

  ����� Two particle of equal mass� m go 
round a circle of radius R under the 
action of their mutual gravitational 
attraction. The speed of each particle 
is :�

[1] 
R

Gm2
� [2] 

R

Gm �

[3] 
R

Gm

2
� [4] 

R

Gm

4
�

����� 30 W/ 2m �>$���B��6	�����!"�����.�����
0���� ����� �&� ��/� ��� ���	�H� 0������
/�
��� /� � 0������ >$��� ��� ��F� �����
(25%)� ��/� �
� ���	����� /�
��� /�� 0����
��
<�� 0	���
�<��� /�
� $���� /� � ��/� 1�
J�

2m1 �������"���"�����������/�
�����
�
[1] 6.25 × 810−  N 

[2] 10.0 × 810−  N�
[3] 12.5 × 810−  N�
[4] 25.0 × 810−  N�

  ����� 30 W/m
2
�energy density of sunlight 

is normally incident on the surface of 
a solar panel. Some part of incident 
energy (25%) is reflected from the 
surface and the rest is absorbed. The 
force exerted on 2m1 �surface area 
will be close to :�
[1] 6.25 × 810−  N 

[2] 10.0 × 810−  N�
[3] 12.5 × 810−  N�
[4] 25.0 × 810−  N�

����� �
3Q� �
� �!�&� r �
� 8��� �
� I�� %
�2���
�JK"�� R �
� ��� ��
�
� ��� 0�	
��� B��6	�
ρ(r) = ρ0r /� �(��0�	
����	��4���&�>$���
/��*����0�	
�����
�Q %��
�,���
�

[1] 
R

Q
2

07
1
πε

  

[2] 
R

Q
2

06
1
πε

 

[3] 
R

Q
2

05
1

πε
 

[4] 
R

Q
2

020
3

επ
�

  
����� A sphere of radius r has charge 

density ρ(r) = ρ0r as a function of 
distance r from the centre. The 
energy of this charge distribution is 
(consider Q as the total charge) : 

[1] 
R

Q
2

07
1
πε

  

[2] 
R

Q
2

06
1
πε

 

[3] 
R

Q
2

05
1

πε
 

[4] 
R

Q
2

020
3

επ
�



������ �������

��	�
��
���� � �

����� ���B����
����-������B��6	����
�Q#"%���
0���� ���&� ���$�� �&� ����(�� ��
� %�����
��"��$����/� �"���Q#"%���0��������(���
�
%����%
��0�+���%�J��A"�P�7%����1% 0����
2% /��2� ��
� B��6	� �
� %���� %
�� 0�+���%�
J��A�/����
�
[1] 2% [2] 3% 
[3] 5% [4] 7%�

  ����� The density of the material of a cube 
is measured by measuring its mass 
and length of its side. If the 
maximum error in the measurement 
of mass and length are 1% and 2% 
respectively, the maximum error in 
the measurement of density is : 
[1] 2% [2] 3% 
[3] 5% [4] 7%�

�� �� Q#"%���20 g ��� ����4��10 m/s �&�
�����
�>+	��+���>����&�0�
��8
����$����
/� ��4���
�>���$��
��
����������T6	��<��4��
���5������"���"����"��/�
�����
�
[1] 0.5 J [2] −0.5 J�
[3] −1.0 J [4] −2.0 J�

  
�� �� A particle of mass 20 g is thrown 

vertically upwards with a speed of 
10 m/s. The work done by the force 
of gravity during the time the 
particle goes up will be :�
[1] 0.5 J [2] −0.5 J�
[3] −1.0 J [4] −2.0 J�

��!�� �JK"��R �
������������
����
�03���
�	D���1�
J2�$/�P����(����01��z-01�����
0����+���	4�� xPP ˆ=

�

 /�2�/����
�

[1] x
P

ˆ
3 0ε  

[2] x
P

ˆ
3 0ε

−  

[3] x
P

ˆ
2 0ε

−

 
[4] x

P
ˆ

2 0ε
�

  
��!�� Electric field inside an insulating 

cylinder with radius R, where its axis 
is on z-axis and carrying polarization 

xPP ˆ=
�

 is : 

[1] x
P

ˆ
3 0ε

 [2] x
P

ˆ
3 0ε

−  

[3] x
P

ˆ
2 0ε

−

 
[4] x

P
ˆ

2 0ε
�

����� ?
4�&7%�%
����"�
�$�����
������
� .����
+��
��
��� ���"� .����
+�� 18 Ω /� � $�� (3/
��
�%������� 7%� %
�� ��"�
�$�� ��"�� $���� /��
������"�.����
+��4 Ω /� �(��.����
+��
���
�
.����
+��7%����/�����
�

[1] 12 Ω, 6 Ω�

[2] 10 Ω, 8 Ω�

[3] 14 Ω, 4 Ω�

[4] 13 Ω, 5 Ω�

  ����� The equivalent resistance of two 
resistors, when connected in series is 
18 Ω. When they are connected in 
parallel the equivalent resistance is  
4 Ω. The resistances of these 
resistors are respectively :�

[1] 12 Ω, 6 Ω�

[2] 10 Ω, 8 Ω�

[3] 14 Ω, 4 Ω�

[4] 13 Ω, 5 Ω�



� ������� ������ �

��	�
��
���� � ���������

��"�� ��� 2 Ω �
� .����
+�� �
� 2 A �&� +�����
.	��/��/�
�&�/��$��	/������A�&��
�$�):��
/�
���/� �9 Ω �
�.����
+���
�$�):
�/�
�
����
	/&���A�&�0.5 A �&�+�����.��"����&�/� �
��A�&����0�������.����
+��/����
�

[1] 1 Ω [2] 1/2 Ω 

[3] 1/3 Ω [4] 1/4 Ω�

  
��"�� A current of 2 A flow through 2 Ω 

resistor when connected across a 

battery. The same battery supplies a 

current of 0.5 A, when connected 

across a 9 Ω resistor. The internal 

resistance of battery is : 

[1] 1 Ω [2] 1/2 Ω 

[3] 1/3 Ω [4] 1/4 Ω�

����� ��� �����&"� �5+���	� ��� ��
� �����&"� 1�
J�
�7"����/���$�
�����-�!��
��
�75° �
���
4��
��� U��
� /��� /�� � ��� �����&"� 1�
J� ���
���%�4�� T2102 −× �/� � (�� 1�
J� �
�
��-��30° �
���
4������5+���	�@-��"&��������
.�E�� ����� /� � �!��
� �����&"� 1�
J� ���
���%�4��/�
�����
�
 

[1] 0.04 T  

[2] 0.03 T�

[3] 0.02 T 

[4] 0.01 T�

  
����� A magnetic dipole is acted upon by 

two magnetic fields which are 
inclined to each other at an angle of 
75°. One of the magnetic field has a 
magnitude of .102 2

T
−× �The 

dipole attains stable equilibrium at 
an angle of 30° with this field. The 
magnitude of the other magnetic 
field will be : 

[1] 0.04 T 

[2] 0.03 T�

[3] 0.02 T 

[4] 0.01 T�

����� ����4������	@-�����t = 0 �����!3"�0������
t = t ���"/�x�/� �"/�+���6%��x ������%
��
��� 	
�� �
� ��-�� ���� ����� /�� $�
���

xv α=  �
� I�� %
�� ������ �/��� /� �
$/�P α �@-������ /�2� ��� �4�� ��� 	
��
�%������&�/�
���/����
�

[1] t
½ [2] t 

[3] t
2 [4] t

3�

  ����� The displacement of a particle is 
zero at t = 0 and it is x at t = t. It 
starts moving in the positive x 
direction with a velocity which 
varies as xv α=  where α is the 
constant, then the velocity of the 
particle is directly proportional to : 

[1] t
½ [2] t 

[3] t
2 [4] t

3�



������ �������

��	�
��
���� � �

����� ��� .
��� ��4)�&�0���� ��+����J� �%�������
7%�%
��$�):
�/���/�� �"���L = 1 mH �	�  
C = 0.1 µF /�2���
���4)�&��
�.����
+�����
0�+���%�%���C"��/�
������/���������-��
��
��&��/
�M�

[1] 25 Ω  

[2] 50 Ω�

[3] 100 Ω 

[4] 200 Ω�

  ����� An inductive coil and a capacitor are 

connected in parallel. If L = 1 mH 

and C = 0.1 µF, then what can be the 

maximum value of resistance of coil, 

so that the circuit remains oscillating ?�

[1] 25 Ω 

[2] 50 Ω�

[3] 100 Ω 

[4] 200 Ω�

����� �%&��4�� θ= 2cosar �5�������
�������-��
%
�������&�� ��4)���� �7"�����
3Q&"���2�
�!�&��&�n	&��B�����
��%������&�/�2�$/�P�n�
���%���/����
�

[1] −4� [2] −2�

[3] 1� [4] 2�

  
����� The central force acting on a body 

moving in a path directed by the 

equation θ= 2cosar �is proportional 

to the nth� power of the distance, 

where the value of n is :�

[1] −4� [2] −2�

[3] 1� [4] 2�

����� ��-���� 0���
�� �&� ����� ���"�� %
�� �!4��V���
(round off)���
����

 25.214 + 104.6 + 9.0320 + 4.36 

[1] 143.2  

[2] 143.20 

[3] 143.206 

[4] 143.2060�

  
����� Round off to the appropriate number 

of significant digits : 

 25.214 + 104.6 + 9.0320 + 4.36 

[1] 143.2  

[2] 143.20 

[3] 143.206 

[4] 143.2060�



� ������� ������ �

��	�
��
���� � ���������

����� ���%&A��F):���
� ��� ���
� �
���-��8����
���>+	��+���I���
������$����/��0�����8��
(�
�����
���"��$����/� �"/�%���
�/������
$��"/�8�����
�A����&�/��8������� �@-���
����� �8������/&��/� ��!��
� ���
��&�����
/�
�&���

[1] g
2
3

 [2] g3 �

[3] g6  [4] g3 �

  ����� A meter rod is kept vertically with 
one end on the floor and then it is 
allowed to fall. Assuming that the 
end on the floor does not slip when it 
hits the floor. The speed of the other 
end will be :�

[1] g
2
3

 [2] g3 �

[3] g6  [4] g3 �

�� �� 2 Ω ��� ��� .����
+�� %&A�-�
��� �
� ���
03�����*����&�@-���,�%
��$�):��/� ������&�
����(�� 1 m /�� 0���� ��� 0
��� .����
+����
2 Ω �
� 0�+��2� �!��
� 03����� *����&�
@-���,� %
�� $�):�� /� � $�� (�� .����
+��
�� ��
�
0���� %
�� ���� ��"�� $���� /�� ��
� �������
��3���20 cm �	@-������/�
�$����/� �0
���
.����
+�� ��� %��� /�
��� *���&� ��&� �����
+���
�&���
1������
�/��,���
�

[1] 2 Ω [2] 3 Ω 

[3] 4 Ω [4] 6 Ω�

  �� �� A resistance of 2 Ω is connected 
across the one gap of a meter bridge. 
The length of wire is 1 m, and an 
unknown resistance greater than 2 Ω 
is connected across the other gap. 
When these resistances are inter-
changed, the balance point shifts by 
20 cm. The value of unknown 
resistance will be (neglect any 
correction) : 

[1] 2 Ω [2] 3 Ω 

[3] 4 Ω [4] 6 Ω�

��!�� ����	D����5+���	�%!����3���'O' ����@-���/��
0����x-01���
�0����������
��������"���"��
/� ��	D����5+���	��
��/����!�������3���'P' 
����	D���1�
J y-01���
��%�������/�  OP, 
x-01���
���-��θ ��
4��������/�2������
�

[1] 2tan =θ   

[2] 3tan =θ  

[3] 1tan =θ  

[4] 
2

1
tan =θ �

  ��!�� An electric dipole is placed at the 
origin 'O' and is directed along the  
x-axis. At a point 'P', far away from 
the dipole, the electric field is 
parallel to the y-axis. OP makes an 
angle θ with the x-axis, then : 

[1] 2tan =θ   

[2] 3tan =θ  

[3] 1tan =θ  

[4] 
2

1
tan =θ �



������ �������

��	�
��
���� � �

����� 0��������JK"��a 0������/�&��JK"��b �&�
��� ���&� ������ *AH"!�,� �
� � "/� ���
0�����&"� ����� ���-��� �&� ��&� /�(�� /��
�$��&� ������� σ /�� *$�
��� .����
+�����
�&�#"�67%�/�,�$��
�/&������&"�0�B�!4���M 

�	�� Q#"%�� m ��� ��� ������ ������
*AH"!�,��
� %�+"%��
� ����"��$���� /� � "/�

���A�%����*0����%,�	
� 
k

mg
VT =  .�E��

����
���/� �"���
4

0 )(

a

abM
k

δγβα −σµ
α  

/�2����α, β, γ �	��δ �
�%���7%����/�����

[1] 2, 1, 2, 1 [2] 1, 2, 2, 1 

[3] 1, 1, 2, 2 [4] 2, 1, 1, 2�

  ����� Take a thin tube of inner radius a 
and outer radius b. It is made up of a 
non-magnetic conducting material of 
conductivity σ (which is the inverse 
of resistivity). As soon as a magnet 
of magnetic moment M and mass m 
is dropped through the tube, it attain  

a terminal velocity 
k

mg
VT = . If 

,
)(

4
0

a

abM
k

δγβα −σµ
α then the values 

of α, β, γ and δ are respectively : 
 

[1] 2, 1, 2, 1 [2] 1, 2, 2, 1 

[3] 1, 1, 2, 2 [4] 2, 1, 1, 2�
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[1] 
π4

2IBL
 [2] 

π

2IBL �

[3] 
π2

2IBL
 [4] 

π

22IBL �

  
��"�� A wire of length L is bent in the 

form of a circular coil of some turns. 
A current I flows through the coil. 
The coil is placed in a uniform 
magnetic field� B. The maximum 
torque on the coil can be :�

[1] 
π4

2IBL
 [2] 

π

2IBL �

[3] 
π2

2IBL
 [4] 

π

22IBL �
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